EARAROBEEIERT — 2 N— IBISH —F

20194£3A308 (£) 3EIFI3H

BLY v %3 #B7 % Ust] Bk

EZS

& ‘ [RERSE] — | & (&) 12000 B

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o no RIS 2. - . . HHR= (EH)
1 6Py FaInn it 3 T 1(1_2)8 1-2 37.9| 82.5 | 1 ;1_33 i
RYIRGT4 TR ByArTdrxyY N B%i5%
3 | JIIEfEAE 1:12.8 2-1 37.8| 825 | 2 482 | RRAFIA (i)
N . BESETTE 8 | LI et o | K
LHIRT TR BN-—Z2 T ay [Ed=tie)
N . NS HIDEE : = KPIIETE (E#)
sl1lo|vamrenvy i 3 o3 1(/1%; 2-2 37.9| 825 | 6 go) AL
R:&Z/F¥LLY b BiYautrA-Fr wk B
K 4 3 | RLRK®E 1:13.0 8-8 37.6|80.9| 3 452 | AREE (EH)
4|7 14| TTRTYER 54.0 A 1/4) (-10) R
714 F€T> B:O-XT7I314G 7L Shall Farm
S . # 3 | AUXTH 1:13.2 4-4 38.0| 78.9 | 10 | 462 |FBEEKRHME (X#)
EHH UT7—R/> 54.0 (1 1/4) 4y |BBFF
LNAT ==L B:UT—Ky)I> HR&t U7-F
AR it 3 | AtEiE 1:13.2 12-12 [ 37.2| 79.4 | 8 440 | PTRIEF (E#)
68|15 TEIT7—/ 54.0 (NF) o | B Frr-L-—v2y
Rib—trhvLARY BihLyET—/ J—HrIr—L
SHELUE LS 3 | ZHE2 1:13.5 4-4 38.3]76.3 | 4 40 | KMEK (E#H)
] 71 MITERATT 54.0 (1 3/4) (g |EEEZ=
L:byH¥FIO-U— BvAF7r=—Fz will 8l
SN it 3 | FARER 1:13.7 4-4 38.5| 74.7 | 5 454 | EKER (EH)
85|10 I=A A= 54.0 (1 1/4) (-10) EEH?) JNwrTF4—%ZTLy FR
RixvyUgTdvEk B hTvIvTS Hro—t>
oq . s 3 | HUME 1:13.9 11-10 [ 38.4| 72.8 | 11 470 | £HEIR (E#)
9|11 | T ¥ vV T 54.0 (1 1/ o |dmEA
L:hzxexy B:aUrt £ e
. 4 3 | FIEEZ 1:13.9 8-8 38.5(729| 7 440 | RIIARE ()
10 12 14 XEHD 54.0 (NF) (1) | EERE
Zox14m B:Y b/ TxT—K L7 T
NN . F. 3707 . - HEEE (EH)
1 EEYEPLVE it 3 o 1.(114>.1 4-4 38.9] 71.6 | 9 (4518) 5%7?1%
R:74H0 B:AhLLE—H—- PR
= s R— : — Bl (3£#)
1217113 XTS5y 4 3 o 1.(154).9 8-10 39.5| 65.4 | 12 g;} n
L:IA2>77v2a B:7%/0%0X wr fx
P # 3 | AEH 1:15.3 13-13 39.2| 61.3 | 14 M4 | KEE— (EH)
13N g| Py ER-T T 54.0 @ 1/2) o) |8 TEDis
/TN B:7IFYLYA ALK
K s 3 | Bkdcdt 1:15.9 14-14 | 38.6| 56.0 | 16 | 440 |BEAEX (i)
14/8[16| ¥ 17 54.0 (3 1/2) Lo |EEE
Z:Oo—-LibsFLf4a B:Fr7—-Ke1> b 4:bve)
= 4 3 | BEES 1:17.4 14-14 | 40.1| 45.3 | 13 | 474 |93 ()
1559 | F¥TLFR—h 54.0 ©) o | ) mExF-Tu
R:vavrheT B:RA-UARIE— FEAHaE
S é ERAR : - REE= (KA
16 5| YA IILE— 4 3 Lt 1.(117).6 14-14 | 40.3| 44.0 | 15 (ﬁ) R
RixrvvH/EEE BRRAHAT T4 — VEPaY ¢}
@ 71 L
) 49.7-37.9
NA>Z4 L | 12.2-10.9-11.8-12.5-12.1-13.3
® I —F—@EBIERL
13=3r=
230—7F—
Gal=7r= (2,%6,4) (3,11,7,10) (12,13,14)1-15,8=(5,9,16)
43 —F— (2.,6,%4) (3,11,7,10) (12,14) (1,13)-15-8=(5,9,16)
[ N3
BB 6 350M 714K 4-6 470 e E 2-3 640M JEHE 2-4-6 4,070/
8 B 6 130M 2-6 850M B = 4-6 970M B 6-4-2 15,400
4 180M 2-4 1,150 | | B B 6-4 2,080M
2 310H

ABICOVWTRDTEEERROODE. TR LIV,




